






















Total No. of Questions : 5l

P2214

Ql) St:lve the problem using VAM method and find optimum cost

Find the least cost allocation for the following data
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204 z DECTSION SCIENCE

Time : 2% rloursJ 
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Inslructions lo tlte crxndidotes:

I) 
:,r:uru 

(/r.ve) questions.

2) Eadr.Question has an internal option.

3) Euch questions carry equol marks

4) Figures to the riglfi indicate marks.

5) Groplr will not be provided, draw diagrom on orrs#ler sheet.

6) fu'{on scientific calculutor is ollowed.
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Probability

0.10

0.15

Demand S,

No. ofreports
Perweek

For the given profit matrix, find the optimal strategy using.

= 
==::j:

/. =

+;'"-i::

=l''
...vr:.

.HOI

...,I".1'

iri

82) Amanuf'acturer produces two clifferent rnodels X & Y of the same product.

Model X rnakes a contribution of Rs 50 per unit & model YRs. 30 per unit, to

wards total profit. Raw materials r, & r, are required for production. At least

18kgs of r, l2kgs of r, must be used daily. Also atmost 34 hours of labour are

to be utilized. A quantity of 2kgs of r, is needed for model X and lkgs of r,

for model y. For each of * & )', 1kg of r, is required' It takes 3 hours to

manulacture model X and 2 hours to manufacture model.v. [10]

Formulate the equations to rnaximize the profit.
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29 0.20

a^ 0.35JU V.JJ

', 31 0.15 ,:,,,.: '.',-j

32 0.05= -r. -, ..:.". 
-

Using the following rando'H.r1rmb'ei, estimate the total sales for next 10

days. ..,. ' ':
10, 99, 65, 99,95, 01, 79, ll;'16, 20.
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a) Laplace criteria

b) Httrrryicz criteria (o : 0.6)

c) Maximaxcriteria
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Arrivals at a telephone bootii are considered to be poisson' With an average

time of" l0ntinules betrveen one anival and the next. Tl-re length of a phone call

is assumerj to be distributed exponentially with mean of 3 minutes'

i) what is the probability tl:rat person arriving at the booth ivill have to wait?

ii) Average time person spends in the system'
t'.
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Q4) Dratv an arr$iaglanr showing the foilowing relationships'
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Determine the sequence of these jobs that rvill minimise'the total elapsed
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Q5/ irourcarcis are drawn atrandonr tl'orn a pack ol52 cards. Find tlie probabilit,v
that ll0l
a) All are cltrbs

b) Trvo are kings and trr,'o are jacks.

OR

l'he weekly wages of 1000 rvorkers nre normally distributed around a mean of
Rs 70/- and standard deviation of Rs 5/-. E,stimate the number of rvorkers

whose weckly wages will be

a) Between Rs 70l- and Rs 72l-

b) Less than Rs 63/-

(Give Z at 0,4: 0.1554, Z at 1.4 : 0.4192)
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